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OPTION-A
(Principles of Microeconomics )

" Paper : COM- GE— 5016

(A) Answer the followmg (any five)

1x5=5
Ao CRERIGIES RO a2 (Ripreat 9)7%“7)
(i) What is normal price ?
FrolRe 7 WA e
(ii) | Definé price discriminating
monopoly market.

a«sﬁmmﬁrﬁwquﬁtﬁm

(i) What do you mean by a kinked .

demand curve ?

T i et e o g

(iv). What is the  economic
' interpretation of a downward
slopping AR curve of a monopoly

firm ?
- BT ITT 9 WFAN AR
QAOER TLHST IRl ﬁsz

(vy Write down the
production .function formula.

Tesive AR ZFRRTIN FCE! 1ty
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short-run

1
|

. ‘_]‘

(B).
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(vi) Define Engel curve. -
e (@ et it

(vii) Write one characteristic of perfectly
_competitive market.

1¢aﬁmmwawmml |

(viii) What is sunk cost ?
P I &2

() What is the shape of éverage fixed

cost curve ?

Answer the following as dlrected (any
five) : | 1x5=5 ‘
we1s e Mot Ses ol ¢ (Ricizr

N551)

. () Marginal utility curve is always

(Fill in the blank)
enf\%%vmﬁﬁ @WW |
| | (5 51 o7 77

(i) In perfect competition, the average
revenue curve facing the individual
slopes downward. (True/False)

- ’I"L‘f&fﬁﬂﬁﬁﬂwwaﬂ%ﬁ@ g
T (e Wl = (va/weE)
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" () "When marginal productivity (viii) The condition in which market,
(MP) = aver age productivity (AP ), supply matches market demand is
then AP IS . Ca.l].ed

(maximum/ minimumy) S , . m
- AfSw eifes Sesmest (MP) =9 . _@" 2
%wm(AP) cofean AP | ) al_‘ ti‘-
(W - TR (a) equalization

(zv) The shape of a perfectly elast1c I \9 o
. demand curve is (b) normalization -

(Fill in the blank) R - o -
’r"’l‘f Zfe ?i"f?ﬁ Siftwl @UICRE IS (c) equilibrium ' :
l (YT 312 %7 F) - . o

(v) Give one example of cross elasticity . (d) None of the above

of demand. . ' @5 B8 T

. F pyd ﬁ GT . - ) . . . 3 .

! N oo o : (ix) Demand curve can be derived from
| : : .income consumption curve.

(vi) The 1nd1fference curve is convex ' _ (True/False)
to the origin due to decreasing o oSl R SRt SRR e
marginal rate of substitution. .

: (True/ False) | R AR (37@/ )

- fremet Rar qawmﬁazw 2. Answer the following in brief : ,(within 40
* R P T et (R T) words) (any five) 2x5=10

(vii) Increase in income shifts demand oS FAERE Y Te B ¢ (8057 279 [SoTo)
curve towards — (Right/ Left) 1 (5 Hi51)

o Ifpe ifwet I AN . . .
= (G /) | (a) De ine opportunity cos
o Al JF e AL
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(b)

(¢

(d)

(f)

What is income elasticity of demand ?
siftwis o Rl T &

What do you mean by marginal rate of
substitution ?

AT 2lifeT 2T I & e

Mention two important features of an-

oligopoly market.

TRl TG Q2T E(?f\ﬁ\aﬁff [SIEERce
<4l |
Write the fwo conditions of equilibrium

that must be obtained by a firm to
achieve its equilibrium position.

CIFI S[E Fe SREE @i Sols aAfeRie
& 751 € #[el A et ol | ‘

What is producer’s surplus ?

G s e

@

(h)

(1)

Discuss Engel’s law.
GTETH o] ST 5l |

Explain two factors causing shift in
demand curve.

bifewtcas ziiefs AR gh) e oI )
Write two properties of isoquants.

TG (@UR 757 @Ry e
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0)

Why is the average cost (AC) curve
U-shaped ? ‘

i PRIS 91T T[T @ U-SNFros =2

Answer any four from the following :

5x4=20

wore WMAEITE #1901 Rear bifabrg Ted fordl ¢

(@)

Briefly explain how an individual firm
enjoys supernormal profit in the long
run under monopoly market.

GO TS @A Somiel AfSPIE TEHE
TS (FEWE T &e Sl IR A"

oG I

(b)

(d)
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Write a short note on elast1c1ty of
demand.

@%@WGW&WB{W%&H]

What is a budget line ? When and how
a budget line shifted from its original
line 2

AT @2 e @WWWWW
ARG A 2

Under what conditions, AR=MR in
perfect competition ?

%%B\Tgmommcfziﬁﬂﬁw TOTEF IS
AR = MR =? ‘
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(e) Briefly explain two exceptioris to the
law of demand.

ﬂﬁﬂﬁf«zﬁr@wmmw

() Write a short note on income
consumptlon curve. '

W%Wﬂmaeoﬁ—aﬁs{mﬁw'

(g9 Show the relationship between AC and
‘MC (average cost and marginal cost).

TG I (AC) W% A I (MC)< Wers
T~ Fio 901

(h) Distinguish between accountlng cost
and economic cost.

-ﬁwﬁmmwﬁ%mmmzﬁq
cw«;{ean

4. Answer any four from i:he following :
| , , N - 10x4=40
oo g SIS e e g

(@) Discuss various det i

aocuss ermlnants of

(b) Discuss the modern cost theory
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(c) .

(@

(e)

)

}ExplaJn the law of varlable proportion

of production.
Tesim SRTEAT Sweire RO It =0

Write three features of monopolistic

' competitive market. How are price and
. output determined under such market ?

Explain.

I zrf%mﬁ—lww fefeor gy
Bl | G2 TS 7T S TeAH (T RS
o [ F9|

- Make a comparlson between collusive

and non-collusive oligopoloy market.

Riore IERRe Sfee @@ FRiTFe! A=

Ri%ere @Ry A9 TRl I NTS IF

OIS SGEA vife &=

Explain the law of d1m1nlsh1ng marginal
utility.

WW%@WW@WWl

What do you mean by excess capacity ?
How and when does it arise in
monopolistic competitive n_‘iarket ?
Explain. Do you think excess capacity
is beanIClal to the society ? Give
reasons. , 2+5+3 10
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wfSfie wwel gfer 5 quie awifEe | OPTION-B
fSraIProrE TETe 92 el @ik (=

(Business Economics)
Tesife 2, 11 31 | SR wael e AR

sTrerIfEe I ofil ST ? TR meefa | o MECOLE 0 o
(h) Define income effect. Explain the 1.. Answer any ten of the following questions :
derivation of Engel curve from income 2
: 1x10=10
consumption curve (ICC). 2+8=10 : : :
S AOR {2 W Torehl @um v g QE'WWVWWWWWS
(S (P DRI T 27 SN 547 | ' (@) Define business economics. )
G e oTsumtion. curve o - TR LT Reem et |
Explain the shape of price consumption i
curve if both x and y are normal goods. A‘ - (b) What is national income ?
: 5 2+8= ]_O
‘ o oy e
TR TACOM 2 T x o y e g |
2 (OGS ¥ SOl ([T S @ 2 (c) Define elasticity of demand.
1=yt <4 | -y bifRnlE FEfogiorror weet |
() Explain SUbe.thtion effect with the help (d) Mention an exception of the law of
of diagramatic analysis, qoelE
emand.
SRR REIC:I S e o R
‘ RGN vifet [fsm abr fees Tra <1 |
(e) The relationship between input and
‘ output is called :
e : (Fill in the blank)

TAITS W7 Tl NG =5
T = (3T A2 77 1)

-5/CBCS| COM GE/G 10
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(9)

(h)

(i)

0)

(k)

@

Show the shape of isoquant in case of

perfectly complementary factors.

Sojef #AfR7FP TS (FI9 ATGLAT (G
Sigfe (@EE FH, (TS|

What is real cost of production?
e oS I B2

Define marginal cost.

siffess qR kel | .
Short-run average variable cost curve
150 ey ‘shaped. (Fill in the blank)

eI 91T ARTETIE T @ Il |
(3T 21% 759 )

Draw the total revenue curve of a firm

_ under perfect competition.

7j¢f eiferaIforER Tae v Qs s
Sl (EACET O [

What is meant by normal price ?

relffe v I & Jare

Define ‘shut-down point’
analysis. _
i Fisers “wel-a Ry el e

in market
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(m) What is first-degree price discrimination ?

(n)

(o)

(v)

()

22 W@R v [eenied [e

What is dumping ?

wifik 52 '

Who gave the concept of ‘quasi-rent’ ?
T AGT AISEAO] (I SoRDI20%e 2

Who propounded the uncertainty
bearing theory of profit ? '

STred WSl T2 Gl (I SNGIZR?
What is normal profit ?
FOIS &le e

Give an example of insurable risk.

ISy Fhosisn aoT Swiggel |

Answer any five of the following questions :

2x5=10

(a) Mention two reasons that give rise to
the economic problems.
S TR T8 (R 757 FIRe T 4 |
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(b)
(o)

(d)

State the reasons for the law of
demand.

mﬁfmﬂaﬁ{iw@n

‘Write fwo reasons for leftward shift in

the demand curve.

mﬁmmmwmeﬁvw zfmaqmu

‘Define a linear homogeneous

production function.

- WWE‘QMW“& & |

(e)

)

- (h

()

Define margmal rate of technical
'substitution. .

»@ﬁ?ﬁ’rmﬁl@ﬂwwi\wﬁm

What is implicit cost of production ?

‘%QWWW?N%?

State two conditions of pnce dlscnmmatlon
] ﬁrﬁaﬁcﬁ' zb‘rv W = |

Mention two characteristics of
monopolistic competition.

e AfSriM I 7o @HEy B

Dist‘ingnish . between  personal
distribution and functional distribution.

et Regd Sie I Koo oo 214w
R |
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0

Write the differenee between risk and

‘ uncertamty

Wmmwﬁwmm@MI

Answer any four of the followmg questlons

(b)

()

@

-5x4=20

| were ﬁzwmwﬁﬁrmﬁmﬁm

: (a) Discuss the 1mportance of national

income in busmess econom1cs

Ww@ﬁﬁ@rﬁ%e&nm
Sl

Explain the determinants of price
elasticity of demand. .

Siftvi v Rfegrereeia Raieog 0 4 1
What is isoquant ? Explain the
properties -of an isoquant. -

WQWM%?W&’WWW
et == |

What is economies of scale ? State three
reasons for the rise of internal
economies of-scale ?

mw%qﬂw:ﬁwﬁﬂ 2 TS
[ECNIRIG R maz%ﬁﬁfquWl
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(e)

(9)

)

Explam the charactenstlcs of perfectly
competitive market.

v-ﬁﬁaﬁmﬁﬁwwamaﬁaml

.Explain the basic conditions for

equilibrium of a firm with’ the help of

~ a diagram.

QU mmﬁwwww
1

Distinguish between money wage and
real wage.

'WWWWWW‘?H@ orReat |

Profits are’a dynamic surplus. Explain.

oS TR & AT ) g 0|

Answer any four of the following questions :

et Al [epre 51f<bt eae T i ¢

10x4=40

(a) Explain the various types of business

decisions. Mention the phases of

business decision making process.
' 6+4=10

wﬁas Prares ﬁf\w AP [T F |
TR i 2zt AR STz S =i |
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(b)

(c)

(@)

(e)

Dlscuss the law of Vanable proportions.
In which stage will the producer decide
to produce ? Explain. 7+3=10

TR ARSI Seire RIRCGH Sticetioat
T T ALY #RS TSy
Tesive SRt Bars 3?2 39 o1

Explain increasing and decreasing.
returns to scale. Distinguish between
economies and diseconomies of scale.

8+2=10

wwmmmm AfSmi 3 11
TR Wl Test ool iR wieRoN
AL e '

State the importance of demand
forecasting for a business firm. What

are the methods of demand forecasting ?
Explain any two methods. 2+2+6=10

oles T 9 1 iR SHOPR AwfIR
& &2 R 751 +1afs 3 =01 '

Distinguish between short run and long
run. Why is the long-run average cost
curve U-shaped ? Why is the long-run
average cost. curve called planning
curve ? ’ - 2+5+3=10
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......

(9)

(h)

| ZEE IR ML e AL Tl | AP
NG A @A 7 U-SIGoq =2 MIPEA
oI AR (IS [ SR @2 3@ R e

......

) EXplEii:n how the short-run equilibrium

price and output are determined under
perfectly competitive market. .

o4 ARSI I ZTIETH SRPIG 7«
oI% AR~ Rwes e 9 =, 3l
A1

Explain how a monopolist attains

equilibrium price and output in the long

~ run.

FPITS GIBA IJAR qo Rwes 7@ i

ANAE AR SN SR A F, I
01 ‘

What is kinked demand curve ? Explain
how it helps in explammg price ngldlty

under ohgopoly market.
2+8=10

@:ﬁﬁmmﬁm Mﬁivwﬁw—ﬁw

WF{%—TWW?WWW 3o
M
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(0

‘Explain the marginal p.roductivity ’

theory of wages. State its limitations. -

6+4=10
wﬁa AT Sesivlerel F@ce! Tl 7t
T AiEornE )| :

() Discuss the innovation theory of proﬁt.
Mention its limitations. 6+4=10
ST TG CERA SGLH! SIETIT <= | i’m

: ﬁﬂmw Sl
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